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Perp (3) 2™ Term

Twice the number X subtracted by 3 is ...............
11 ((a) X-3 (b)2X+3 (c)2Xx-3 .3-2x
The point of intersection of the two straight lines X=2and X +y=61is ..............
iy 0256 .(2 '4) (©)(452) (d) (6 52)
IfX=2andy=3sthen(y-2X)""=cccccce
13 |(a) 10 b -1 (©)-10 ]
If X is a negative real number » then the greatest number of the following numbers
14 - R .
(a)3+X (b)3Xx .3-x (D
The additive inverse of the fraction —5>— s ............
15 3 2 S 2
== - X“+1 X“+1 3
.x2+1 9 3 s @
If A and B are two mutually exclusive events of random experiment then :
16 P (A n B) = e
| @P(AUB) bPA)+PB) (©Q2 .zero
If f (X) =6 X+ 3 X (1 -2 X) is a polynomial function s then its degree is ..............
17 .fust. (b) second. (¢) third. (d) fourth.
. X“-9.
The set of zeroes of the function f : f (X) = e
18
@ {3} .{- 3} © {3 -3} )@
If the curve of the quadratic function does not intersect the X-axis at any point » then
19 the number of solutions of the equation f (X) =0 inRis ...
- .zero (b) one solution. (¢) two solutions.  (d) an infinite number.
Ifa<yY3<bsthen(asb)is ...
20 1 @) 0,1 (b) (2.5 +3.5) .(1 '2) (d) 2 +3)
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If(7*233)=(1 sb+5) sthena+ b=
21 | a)-1 'uro (©1 (d)2
1 The domain of the multiplicative inverse of the algebraic fracuon x+ 2
22 | @R b)R-{-5} ©R-{-2} ']R {-2 »-5}
If2°x3°=mx6*sthenm=ooovvinns
23 | a1 (b)2 ©)3 -’
The point of intersection of the two straight lines X +2=0andy-3=01is ...
24 | @(-2,-3) '(-2,3) (©) (2 5-3) d) 2 53)
The set of zeroes of the function f: f (X) =X+ 1i$ cccooeeern.
25 | @ {1} ) {-1} ©{-151} _@
If the curve of the quadratic function f passes through the points (2 50) » (=3 ,0)
26 and (0 s — 6) » then the solution set of the equation f (X) =0inRis ...
= l@{-2,3} ®{3,2} u{z =3} @ {-3,-6}
If there is only one solution for the equation :
27 | X+2y=land2X+ky=2inR xR »then k cannotequal ...............
(a) 2 4 (c)-2 (d)-4
fn(X)="—F 1s an algebralc fraction » then the domain in which the fraction has
28 muluphcanve inverse is ..
()R- {2} {- ,2} (c)R-{-1} @ {-1,2}
If the curve of the function f : f (X) = X* - X + ¢ passing through the point (2 » 1) »
then ¢ = «orevenresiens .
= ()2 (b) 1 (©)-2 '-1
Th X:-x-2.
e set of zeroes of the function f : f (X) = _xz__d_ [ S
30 -
N | (a) {2 »-2} ) {-2,-1} '{2,-1} @ {1,-1}
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If A and B are two mutually exclusive events of a random experiment
1if P(A)=1 3 P(AUB)= 75 sthen P (B) = o

- 3
1 1 1
(b) 3 (c) 3 (d) 1

2
Ifn(0)=3"2

(a) {2 ,-5}

» then the domain of n™" is ...ooove....

) {-2,5} .m-{-z,s}

dR-{2,-5]

If the solution set of the equation X? —a X +4 =0is {-2} sthena= e
(a)-2 '— 4 (c)2 (d)4

The simplest form of the functionn : n (X) = ;c__; such that XER - {3} [T

34 | @1 B ©3 @ -3
The function f where f (X) = X~ has additive inverse in the domain ..........
32 (a)R-{3} .R—{4} ) R-{-4} (dRrR-{-3}
If A C S of a random experiment s P (A) =P (A) s then P (A) = oooooeveens
36 | (a) zero (b) 1 .% @ %
The set of zeroes of f where f (X) = (X = 1)* (X +2)iS ..o
= .{1 =} (b) {-1,2} © {-1,-2} @ {1,2}

If the curve of the function f where f (X) =X ‘2 passes through the point (1 »0)

’thel‘la= ...............
']

(b)-1 (c) zero

(a)-2
If A and B are two mutually exclusive events s then P (A= B) = oo

39 | (a)zero .P (A) (c) P (B) (dPAUB)
Number of solutions of the two equations : X+y=2 » y-3=0togetheris ............
40 | (@)3 (b)2 . 1 (d) zero

Mr.Omar Adel
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Choose the correct answer:
X 1) = mmeenss
1
= | (@Xx%+1 (b) X%-1 ©X*-X+1 .x2+2x+1
If A > B are two mutually exclusive events s P (B)=05and P(AUB)=0.7
2 | sthenP (A)= oo
(a) 0.02 '0.2 (€)05 (d)0.13
If the two equations X +2y =1 s 2 X+ky =2 has only one solution
§ ’ then kot --oeeriicasnnn
@1 (b)2 - @-4
The domain of the function f : f (X) -d Wi iz s
4
- .m b)R-{-4} C©R-{-4,3} (@D
If A C S of a random experiment s P (A) = P (A) » then P (A) = oo
> @1 B ©+ @ 5
The set of zeroes of the function f : where f (X)==3 XS .cccoocevnnvs
6
o U b {3} © {-3} @R-{3}
In the experiment of rolling a regular die once » the probability of appearance of an
7 | even number on the upper face = «wocereennens
@ % (b) + .% @2
Ifxz—y2=2 (X +y) where (X + y) # zero s then (X —y) = oo
2 2 (b) 4 ©) 6 ()8
IfP(A)=4P(A) »then P (A) = -oomvevone
9 . 0.8 (b) 0.6 (©) 0.4 (@02
The domain of the function f where f (X) = x5+x2 | SR
10 | @ - {5} b R-{-5} ©R

Mr.Omar Adel , 01127470454
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If the two equations : X+3y=6 s 2 X+ky =12 have an infinit number of

51 | solutions sthen T ——
(a)l .6 (c)3 (d)2

‘v 16 +9 =4 + ccooveecvnnnian
52 (a)3 (b)5 'l (d)7

If A and B are two mutually exclusive events of a random experiment »
53 | then P (A [ B) = woeeeemeveeen

(a) @ (b) 1 .zcro O

T EE——

1 XL

54 | (-5 ()~ B @4

IfACS s P(A)= % ,[henP(A)=.. .............
55 4 2 1 3

The opposite figure represents

the curve of a quadratic function f T !1 i

s then the solution set ’I_: 11
56 of the equation f (X)=0 -
— is ............... ‘f‘ ( _I—

L 4 ® 1) s EEny
© {0} @ {©>1} —
. X-a. 5wy e g +3

If the fraction Xe3 s the multiplicative inverse of s then a = «coooveeneeene
57
2L ._ 5 (b)-3 (c) 3 )5

The set of zeroes of the function f: f(X)=41is ..............
58 | (a){-4} (b) {zero} .@ ) {2}

he solution set of the equation : X 2_4X+4=0inRis .ccoeooneeee..
59 |a){-2} .{z} ) {41} (d) @

If the probability that a student succeeded is 95 % » then the probability that he does not
60 succeed is
| @20% (c) 10 % (d) zero

= Mr.Omar Adel
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If X+ )r:=.5 sthen3 X+ 3 Y = e
OF (b)3 ©8 B

1f3x= 1 sthen X = oveeevvenn

.o CF ©1 @3

If A is the complement event of the event A in a sample space of a random experiment
sthen P (A) + P (A) = g

(a)2 .1 © 5 @3

2

X% +k X +9is aperfect square if k = oo
@3 (b)-3 (©)+3 .:!:6

[fP(A)=4P(A) sthen P(A) = oennenns
8 (b) 0.6 (c)0.4 ()02

Ify'3=8 stheny = <o
|
@313 (b) 1 (c)2 .

Nlt—-

The two straight lines : X+ 5y=1 5 X+5y—-8=0are oo

.parallel. (b) coincide.

(c) perpendicular. (d) intersect and non perpendicular.

If A » B are two events from the sample of a random experiment s P (A) = 0.7
and P(A-B)=0.5 sthen P(AB) = ooovvvis

68
(a) 0.6 (b)0.4 (€)0.3 .0-2
IfX?-y*=15and X—y =3 sthen X +y = ereerveeeree

69 | (a)-5 (b)-3 ©3 s

[2 5 5] is the solution set of the inequality -
.]sX—1$4 b)l<X-1<4

c)l=sX-1<4 dl<Xx-1=<4

Mr.Omar Adel e 01127470454
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if: Lyl I
71 x "y Xy T
— |(a)2 (b)3 "‘+y+l o
l 5 — g7 — R T I T T L I eT )
[f"S'_x"ﬁ =4 sthen X =
72 2 . ,
(a) 3 8 © L @3
cbalf SBL 2 th 4X_
Ify 4’ en y
73

@) % L ©) % @ 18

If the ratio between the perimeters of two squares is | : 2 5 then the ratio between their

(a)1:2 (®)2:1 '1:4 (d)4:1

If(X-5%%=1,forevery X € ....ccccco...
(a) R im-{s} ©R-{-5}  @R-{1}

IfFAB=3 5 AB2=12 sthen B = -ceveueuunn.

(a) 2 (b) 3 .4 )5

If the function f is a function from set X to set Y » then the domain of the
function is ...............

77
.X b)Y () XxY (dYxX
) T G | LT e—
181 (a)-2 . zero. ()1 (d)2
If a die is rolled once » then the probability of getting an odd number and even number
E toge[her e T S—
@1 .uro. ©3 @1
If X is a negative number » then the greatest number from the following numbers
—
20 5
.s-x (b) 5+ X ©3 @5x

01127470454
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Find in It the S.5. of each of the following equations using the general formula:| -

g 1

e X2-6X+7=0
sa=1sb==6sc=7

6+136-28 6+18
§Be——e

s X=15860r X=4414
-~ TheSS.={1586 »4414}
16 i 3)2 -5x=0
[ Solution

I\ 18 L=l
(") x%-4x+1=0 — x2 X
m m
ra=lsb=-4sc=1 . " '
=X+ X+8=0
a+\16-4 4212 ik
X = > = 5 sa=-1sb=1,yc=8
o 121432 -12933
S X=0270rX=3.73 S X= ;- e
& TheSS.= {0.27 s 3.73} S X==23T20r X =3372
- The $.8.= {-2372,3372}
— - —
sum of two natural numbers is 63 and their difference s 11 Find the two numbers,

Let the two numbers be X and y

LX+y=63(1)sX-y=11(2)

Adding (1)and(2): ~. 2X=T74
s X=37

Substituting inequ. (1) : . y =26
'« The two numbers are 37 , 26

cX2-11X+9=0
sa=lsb==11sc=9
n+y121-36 11785
X= =
2 2
% X=10.110 or X = 0.890

. The $.8.={10.110 ,0.890}
X ;
3 5-X
[ Solution |
=X 45X-3=0
na=-1sb=5sc=-3
-5:Y25-12 -5:13
X= =
2 -2
S X=4303or X=0.697

s TheSS.= {4.303 s 0.697}

97

()

Arectangle is with a length more than its width by 4 cm. If the perimeter of the
rectangle is 28 cm. Find the area of the rectangle,

Let the length X cm. and the width be y cm.
LX-y=4(1)s2(X+y)=28 L X+y=14(2)
Adding (1)and (2): . 2X=18 . X=9
Substituting in (1) : . y =35

. The length =9 cm. » the width = 5 cm.

. The area of the rectangle = 9 x § =45 cm?

Page 1 1
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/
==\ ( 11

8 ) __/ X+y=0 , y
[Soluion |
| oo Substituti - Phiean. (i3
If (a , 2 b) is a solution for the two equations : SUbszntl.ltmg from equ. (2) in equ. (1)
Ly“+y=0 Ly(y+1)=0

** (a »2b) is a solution for the equation : 3 X-y =35
Sy=0 or y=-1

3; ’;:)issasoluﬁonfmtheuInaﬁon:x-tFEIIJ AR IS D On ]
U o ..';TheS.S.={(0,0),(ls—l)}
Adding (1) and (2) : .. 4a=4 sasl 12 ) X+y=5 5, XY _ 4
Substituting in (1) : = b=~ 1 S— e 6
{f 97\"'} Find the value of a and b v X+y=5 Sy=5-X (1)
/{3 s- 1)} is the solution set of the two Xy
aX+by-5=0 3aX+by=17 i S Xy=6 (2)
. [ Solution | Substituting from (1) in (2) :

** (3 s~ 1) is a solution for the equation ZX(5-X)=6 5 5X=-X2-6x0
aX+by-5=0 ~3a-b=5 W] ~x*-5X+46=0 - (X-2)(X-3)=0
"’ (3 s~ 1) is a solution for the equation ~X=2orX=3

Adding ()and (2): ». -6a=-12 - a=2 *The $3.={(2,3)»(3,2)}
%uhstimt\ingin(l)::.b:l Cx" 15 X+y=7 ’ xy= 12
l Mx+y=2 ' %+%=2;where)t¢(}sy¢0 Vo m

m T X+y=7 sny=7-X (1)

" X+y=2 L X=2-y (1} Substituting in the second equation :
'-'%+%= LYy+X=2Xy S X(T1-X)=12 LTX-X2=12
LY+X-2Xy=0 @) ~X3-7X+12=0 . (X-3)(X-4)=0
Substituting from (1) in (2) : S X=3 or X=4
LY+2-y-2y(2-y)=0 From(l): -.y=4 or y=3

2y -4y+2=0 . The $.8.={(3 +4) s(4»3)}

Page

Ly -2y+1=0 Ly-12=0 ny=1
From(l): .. X=1
s TheSS.={(1,1)}

Mr.Omar Adel - 01127470454
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— [ 2 )
( 21 )
. The perimeter of a rectangle is 18 and its area is 18 cm?
A 2-digit number » its tens digit is twice its units digit. Find its two dimensions.
If the two digits are reversed , the resulting number decreases
the original number by 27. Find the original number. [ Solution |
[ Solution | Let the length of the rectangle = X cm.
and the width =y cm.
Units Tens The number
The original number | y X+ 10y S(X+y)x2=18 S X+y=9 (1)
The resulting number y X y+ 10X ’xy =18 )
+ The resulting number decreases the original number by 27
¢ The original number — the resulting number = 27 From(l): .y=9-x )
L X+10y) - (y+ 10X)=27 HX+10y-y-10X=27 . R "
- 9)’-9;:27 ,-_x:j_; ; (2) Sllbstltllllng m (2) : o x (9 o x) = 18
Substituting with the value of y = 2 X from equation (1) in equation (2) : - - . 2 -
L 2X-X=3 .'.E . gx-x —18 oox —9x+ 18-0
Subsﬁt:ﬁnsshrkﬁmmﬁmﬂﬁ _— H(X-3)(X-6)=0 . X=30rX=6
Ly=EN Sly=6
. The units digit =3 » the tens digit=6 . The original number = 63 Substituting in (3) : Ly=6ory=3
—\ ~. The two dimensions are 6 cm. and 3 cm.
22 )
\\\ »'/ /f \L\
The sum of two real numbers is 9 and the difference between their squares equals 43 ’:\ 24
R A ightangled trangle ofhypotenusélengh 13 cm. and s perimeter s 3 cm.
Find the lengths of the other two sides.
Let the two numbers be X and y : Pl 13
NX+y=9 (1 y
1 X%2-y?=45 ) e
From(1): - X=9-y O
romil) y Let the lengths of the two sides of the right angle be
Substituting from (3) in (2): . (9-y)> —y* =45 Xcm. and y cm.
. 81-18y+y*-y*=45 .. 81-18y=45 LX+y+13=30 & X+y=17 (1)
~18y=36 ny=2 v X2 4yP=169 )
Substituting in (3): .. X=9-2=7 From(l): .. X=17-y (3)
SThetrommion e ] wil Substituting in (2) : . (17~ y + y* = 169
LY -3y +289+4y -169=0
L2y -34y+120=0 .y -17y+60=0
S(y-12)(y-5)=0 . y=120ry=5
Substitutingin (3): . X=5o0rX=12
. The side lengths of the right angle are 5 cm. and 12 cm.

Mr.Omar Adel .. 01127470454 !
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Alength of a ectangle is 3 cm. more than its width and it area s 28 cm”
Find its perimeter.

Let the length-of the rectangle be X cm
and its width be y cm.

S X-y=3 (1)

' X Y= 28 (2)

From(l): .. X=y+3 @

Substituting from (3) in (2) :
Substituting from (3) in (2) :
Ly(y+3)=28 Ly +3y-28=0
Sy+NDy-4=0
S y=-T(refused) or y=4
Substituting in (3) : . X=7
»» The two dimensions of the rectangle are 4 cm.
and 7 cm.
. The perimeter of the rectangle = (7 +4) x 2 =22 ¢m.

s Algebra &Probability W -

— i Perp(3)2™Term W

97 ]
\ /
Find in R x R the solution set of the two equations graphically :

y=X+1 » 2X+y=7

[T]
yexs1 (EHELY
(x[-io[2]  ¥=T-2 AN
lofifs] (X2 LA

212 58 x‘“’%ﬂﬁx
PRI
ENENENE
: j
From the graph : The §.8.= {(2 13)}

[ 26

,f"

The sum of two rational numbers is 12 + and three times the smallest number exceeds
than twice the greatest number by one Find the two numbers.

Let the two numbers be Xand y :

S X+y=12 Ly=12-X (1)
Ix-2y=1 (2)
Substituting from (1) in (2) :
IX-2(12-X)=1 ~3X-24+2X=1

S5 X-4=1 H5X=25
Substituting in (1): .. y=7
». The two numbers are 5 and 7

S X=35

Mr.Omar Adel )
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Find in IR the set of zeroes of the functions that are defined by the following rules :

@/ 0=3x*-15x ©f(=x"+4

OI(X)='};_9—vlhcnﬁndlhcdomninof! 0[{n=mm-n(X)=5
X*-x-6

01.et3x2-15x=0
S 3X(X-5)=0
s X=0 or X=5
s z(f)={0,5}

@Letx’+4=0
va x2=—4 ¥ X=¢ﬁ
s’.'ﬁ%]ﬂ

LE(=0

v e K- (X+3)
o X (X-3)(X+2)

- The domain of f =R~ {3 -2} s2(f)={3 -3} - {3,-2} ={-3}

°Z(f)=IR yz(n)=02

01127470454
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( 35 )
” d ! X4D . Y
lflhedommnuflhefuncﬂonfwheref(X):mlsIR-{J}andf(l])-J
ythen find the value of each a and b
-+ The domain = R — {2}
5 When X=-2 LS X+a=0
L=2+a=0 & a=2
. _X+b 5 - . 0+b _
..jI'J(X)-—:’c_'_2 v f(0)=3 0+2-3
o ?= 3 e b_=6
{ 36 )

"\.I

aX’-6X+8 is {4}

If the set of zeroes of the function f where f (X) = e

and its domain is T2~ {2} + then find 3 3 b

> z(={4} LAtX=4

naxXl-6X+8=0

38 prove thatn, =n,:

2X . X1+2X
n = — o i
19 ax+a 2O 50 v
[ Solution | ]
. _2x
S 2(X+2)
. The domain of n, =R — {- 2}
X (1)
’nl(X)‘:m
X(X+2)
ey
. The domain of n, =R - {- 2}
X (2)
9n2(X)=—5c+—2

From (1) and (2): .. n; =n,

> The domain of f =R~ {2 s ¢}
s~ WhenX=2 .~ X>’-5X+m=0

" 4-5x2+m=0 -~-m=6

X

“F=r e

-'-f(x)='+
X“=-5X+6

X o=3

. The domain of f =R - {2 »3}

Mr.Omar Adel

39
ax4’-6x44+8=0 —_ , el
-4 D A
Ifn, (X)= (X)=
~16a~16=0 & 16a=16 a=l 1 ex—6 X3_9x
» - The domain of f = R — {2} Prove that : n, (X) =n, (X)
T 5 e e for all values of X which belong to
h the common domain and find this domain.
5 2b-4=0 5 2b=4 sHb=2 ' e
\ (X-2)(X+2)
\ 5R e
\ ¥ / 1= -2
umcdomainofmefuncﬁonfwbemf(x)=x,_;"‘x+mism-{z,c} *. The domain of n =|R—{-—3 ,2}
» then find the value of each m and ¢ 2 I 2
[ Solution X+ X(X+2)(X-3)
n = =
'm 0= m, =X+ 3 (x-3)

. The domain of n, =R~ {0 »-3 3}

X+2 "
m0=25 A X=n0

For all the values of XER - {0 y-3 52 )3}

Page 15
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[ 40 'f;
—— provethatn,=n,:

X3 X3+X2+X
nl(m_xB,_xZ 112(X)- xéd_X

M Algebra &Probability W

( 4z

[Solution |
X
x2(x-1)

. The domainof n, =R- {01}

(D
Ny (X)=x—l_-—l ]

X(XA% X+1)
X-D(X% 24 1)

.. The domainof n,=R—- {01}

R l'll (X) =

"Ny (X) =

From(1)and (2): .. n; =n,

@ |
np (X) =1 I

M@ \

lir tl; domain of the function n where

b . S
1(X)—Y+mlsﬂ&—{0 !3}
n (6) = 7 find the values of a s b
[ Solution |
* The domain of n =R - {0 , 3}
o.aAtx=3 -'-x+a=0
S~3+a=0 a=-3
> :L 9
n(J((:i JS,+ - -
¥R = AR T _see
b ) & SHeten
L +3=T .-.-';—=4 b=24

Find n (X) in its simplest form

2
X*4 X X+5
n(x)= -
0 x2-1 x*+4x-5
[ Solution
XA XNS
FHX-1)  (X=1) (X))
. The domainof n =R - {151 5-5}
X-1
n(X)=—x—_—l—=l

'n(X)=

43

: 2 2
____{ X“+2X+4 9-X
n(x)= -

-8  X°+Xx-6

[ Solution

X 42X w4 G-X(3+X
T X-)(C2x+4) (X-D(X+))
~. The domain of n =& — {2 -3}
nogel_3X_X2_,

X-2 X-2 X=2

X2 -8 X+1
X2-3X+2 X +2X+4

_(X-2)(X*+2X+4)
e e T Y S

. The domainof n=R—-{2 51}

xX+1
"0 () =37

=

X+1
x2+2X+4

= Mr.Omar Adel = i
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( a5
n(JC)- 2x+1
x+1 1_x2
[ Solution|
e (X) = 2X+1

x+l (l—X)(l+X)
~. The domainof n=R—-{- 11}

_3(1-X)+2X+1_ 4-X
- A+0(1-%X (1+X0(1-%

(=)

‘ x2+2x-15

X+6X*+85%

then find n (7) s n (3) if possible.
e

e o (3t XX-2 (X4 1)
A= x-))

xX3_x2-2x "
xX2-5X+6

(X-3)(X+5)
X(X+5)(X+1)

- The domainof n =R~ {23 5-5,0 -1}
yn(X)=1 an(M=1
= n (3) undefined because 3 & the domain of n

( 48 )

— o=

(47 )
lff,(x)-m »and the set of zeroes of f, is {5} » and the domain of f, is - {31
then find the values of a and b
Iff, (X}-—— thenfndfl(X)-i-f (X) in the simplest form.

solution
* The set of zeroes of f, (X)is {5}

S 3-a=0 sa=3

» * the domain of f, (X) =RR- {3}
L3+b=0 “b=-3

£,00+£,00=2=3+ 2=

_2X-6_2(X-3)

X-3 X-3

=2

Mr.Omar Adel
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(49

B Perp(3)2™Term W

.47
 nppaXoprer, axes
X*<1 X“-4X-5
[ Solution
n(X)= :;: f; gfl ]1; (x-sr(l’;(-xﬁ1 5)

. Thedomainof n=R - {1 s- 1,5}

X-2 X+1 _X-2
M= T 3 =3

x2+2x+1
2X-8

X+ x-4
n )= X x+1

- The domainof n =R~ {- 1 54}
o0 (X) = x+1

xx_4
X+1

£, 3

If the domain of n: n (X) = o

R-{0,-2}sn@)=1 Find:{,m

Page 17

.+ The domain of n =R — {0 52}
LAtX=-2 L X+m=0
SH=24+m=0 sm=2 !
_l_ o9
“(x)'x'x+2 ( 3
Gl o e R T
e i . e
s+l - 2..( 5 =2

01127470454
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[ 50

_X-1 il
Ifn(JO——x+3 find n™ " (X) and

n ! (X) and identify the domain of n™ !

[ solution |

. The domain of n”' =R-{1,-3}

51

2
[fn(xX)=—X 23X
(X-3)(x*+2)

then find : n”~ ' (X) in the simplest form

showing the domain of n~ !

X(X-3)
’ |wo:(x-s)(x’:fz)
2
w0 = (X-3)(xX*+2)

X (X-3)
~. The domainof n™' =R — {0 3}

X

[ 54 )

2
& X" +2
s (X) =

( 52 )

\ /

Find the set of zeroes of the function f

_X-1 il
F=o— s then find £~ (2)

z(H={1} 0= ii:
. The domainof f~'=R-{-1,1}

Mr.Omar Adel

( 85 )
n(x)=§—3fmd ! (X) and identify the domain of n!
[ Solution |
- X-1 . =1 _X+3
)= s e

 — 01127470454 —

\

53 ) "
: . X2a3 X
fn(X)=—7—

0 x%4-X-6

(1) Find : n~ ' (X) and find the domain of n”'
(@) If n~ ' (X) =2 » find value of X

- _ X(X+3)
- "m'(xq-a)(x-z)

_(X+3)(X-2)
= X(X+3)
». The domainof n” ' =R — {0 5-3 52}

-l =X=2
sn (X)= X
@ n'=2

5 X-2m3 X

n"(

X222

=-2

=

X+2

If the fraction —5—is the multiplicative inverse of
X

xX-2
of 5B where X& {2 +-2} » then calculate h

- - X+2
=Ty X+

X+2

L (0

n_I(X)=?2 s h=1

Page 18

.. The domainof ™' =R {1 53}
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56

If A and B are two events of the sample space of a random experiment »
=L =l ol i

P(A)= 5 sP(B)= 3 and P(AMNB)= 10 Find :

MP(A) (@)P(B) @PAUB)

(a)P(A-B) (5)P(B-A)

(MWPA)=1-P@A)=1-L+=2
@P@B)=1-P@)=1-3=2
(3)P(AUB)=P(A)+P(B)-P(ANB)
=L+A—L=l
$*3 10" 16
(4)P(A-B)=P(A)—P(AI'\B)=%-%=IL0
(S)P(B-A)=P(B)—P(AF]B)=%_Tl.ﬁ=.%_

/

57

If X and Y are two events of a sample space S s P(X)=0.35 , P(Y) =048
and P(XUY)=0.6 Find :

MPX) »P(Y) @PXNY)
@PX-Y) @PXNY)

MPX)=1-P(X)=1-035=0.65
P(Y)=1-P(Y)=1-048=052
(@) PXUY)=PX)+P(Y)-P(XNY)
LPXNY)=PX)+P(Y)-P(XUY)
=035+048-06=023
B)PX-Y)=PX)-P(XNY)=035-023=0.12
@PXNY)=1-PXNY)=1-023=0.77

\
58
/

If Aand B are two events of a sample space of a random experiment » P (B) = %
and P(A-B) = Find : P(A) if :

WPANB)=  (@Aand B are mutually exclusive. (3)BC A

(‘I)P(A)=P(A—B)+P(Ans)=%.,.1_12 =%

(e)P(A)=P(A-B)=_A.

(3)-BCA ~P(ANB)=P(B)=
~P(A)=P(A-B)+P(ANB)= %+

-
12

= W

Mr.Omar Adel

( 59 )

L2 If A and B are two events from the sample space of a random experiment »
P(A)=08 sP(B)=0.7 and P(A B)=0.6 Find :
(1) The probability of non occurrence of the events A and B together.

(2) The probability of occurrence of at least one of the two events.

(1) The probability of non occurrence the two events
Aand B together=P (A B) =1 -P(ANB)
=1-06=04
(2) The probability of occurrence of one of the two events
atleast=P(AUB)=P(A)+P(B)-P(ANB)
=08+07-06=09

| I—

If A and B are two events of a sample space of a random experiment » P (A) =05
sP(B)=06and P(AN B)=04 Find :

(1) The probability of occurrence at least one of the two events.

(2) The probability of occurrence of B and non occurrence of A

(a) The probability of non occurrence of A

(4) The probability of non occurrence of any of them.

(5) The probability of occurrence of one of the events but not the other.

(6) The probability of occurrence of the event A only.

1) The probability of occurrence of one of the two events

atleast=P(AUB)=P(A)+P(B)-P(ANB)
=05+06-04=07

‘2) The probability of occurrence of the event B and
non occurrence the event A
=P(B-A)=P(B)-P(ANB)=06-04=0.2

‘3) The probability of non occurrence of the event A
=P(A)=1-P(A)=1-05=05

(4) The probability of non occurrence of any one of the
twoevents=P(AUB)=1-P(AUB)=1-07=03

(5) The probability of occurrence of one of the two
events but not the other=P(A-B)+P(B-A)

=P(A)+P(B)-2P(ANB)
=05+06-2x04=03
(8) The probability of occurrence of the event A only
_=P(A-B)=P(A)-P(ANB)=05-04=0.1

01127470454
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If A and B are two events from a sample space of a random experiment s and
P(A)=07 » P(B)=06 » P(A(B)=04then find :
(MPAUB) (@P(A-B)

(1)P(AUB)=P(A)+P(B)-P(ANB) =0.7+06-04=09
(@)P(A-B)=P(A)-P(AB) =0.7-04=03

V' 62

(&)
If A and B are two events in a sample space for a random experiment » and if
P(A)=08 » P(B)=07andP(AB)=06
Find : (1) The probability of non occurrence of the event A

(2) The probability of occurrence one of the two events at least.

(1) The probability of non occurence of the
event A=p(A)=1-P(A)=1-08=02
(2) The probability of occurence of the two events
atleast=P(AUB)
=P(A)+P(B)-P(ANB) =08+0.7-06=09

. 63

If A and B are two events of the sample space of a random experiment
PA)=3 » PB)=F » PANB)=

Find : (1) P (AU B)

(2) The probability of non occurrence any of the two events.
(a) The probability of occurrence of event A only.

(1)P(AUB)=P(A)+P(B)-P(ANB)
5 .2 1

—_._+___.=_.=—

99 9 973
(2) The probability of non occurrence any of the
two events = P (A U B)
st o -
=1-P(AUB)=1 5=13
' (8) The probability of occurrence of event A only
=P(A-B)=PA)-P(ANB)=3-1 =4

64

If A 5 B are two events in a random experiment where :
P(A)=07 » P(B)=0.6 > P(ANB)=03
Calculate the value of : (1) P (A) (2)P(A-B)

(DPA)=1-P(A)=1-0.7=03

(2)P(A-B)=P(A)-P(ANB)=07-03=04

(3)P(AUB)=P(A)+P(B)-P(AB)
=07+06-03=1

@ PAUB)

64

A box contains 30 identical cards numbered from 1 to 30 and a card was drawn randomly.
Calculate the probability that the number on the drawn card is :

(1) Divisible by 4 (2) A prime number.

The probability that the number on the drawn

LAk e _ T
card is divisible by 4 = 30

The probability that the number on the drawn

. . _10_1
card is a prime number = 30 = 3

64

If A and B are two events from the sample space of a random experiment where
P®)=15 » P(AUB)=1
Find P (A) in each of the following cases :

(1) Aand B mutually exclusive. (2BCA

+» A and B are mutually exclusive events
.'.F(AﬂB):O l
- PAUB)=P@A)+P®) ~PA=PAUB-PB=%-5=1

(@ BCA P(AUB)=P(A) +

— S

It

| A classroom consists of 40 students » 30 of them succeeded in math. 24 in science and
| 20 in both math. and science. If a student is chosen randomly.

FFind the probability that this student is :
(1) fail in math. (2) succeeded in math. or science

1y §
(1) The probability that e

vk |  (2)The probability that the
the chosen student fail (0) chosen student succeeded in
inMan= 8= | Nith, o Science = 53 = 17

“1) The probability that it was white = -5

64

A bag contains 21 symmetrical balls » 8 white y 6 red and the rest is black s one
ball was drawn randomly s find the probability that it was :

(1) White.

(2) Not black.

(3) Red or black.

21

'2) The probability that it was not black

8+6 14 _ 2
=21 °

(3) The number of black balls =21 - (8 + 6)=7

The probability that it was red or black
6+7_£
21

| Mr.Omar Adel
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If(S5+9X-4)=(y s 3) sthen X+ y = ooivvennene
41 | ()25 .12 (c)8 (d)6

The set of zero is of f where f (X) =X (XA =30 )i
42 .{0,1} ) {0,-1} ©{-1,1} (d{0s1,-1}

If the age of a man now is X year s then his age after 5 years from now is ... years.
43 | (a)X-5 b)5-X (c)5X X+5

If A is an event of random experiment s then P (ﬁ) = e
44 | @1 (b)-1 .l—P(A) (d)P(A)-1

If2X%=5 sthen 6 X2 = -cccoonvvivnnes
45 | @5 (b) 10 ' 15 (d) 20

The sum of two consecutive integers is 17 » then the smaller number of them
46 [ N

.8 (b)9 (c) 17 (d) 72

The probability of the impossible event equals ..............
47 (a) @ (b) 1 izero (d)-1

The sum of two consecutive integers is 17 » then the smaller number of them
48 | 1S ..o

8 (b)9 (c) 17 (d)72

lf2x2=5 ’t_hen6x2= ...............

(@5 (b) 10 .15 (d) 20
= oulaillglodallghy

WU, eXAM-eg.cont =3

In the oppossite figure : b/

The solution set of f: f(X) =018 ..ccoovevvce. \/
= ) {3} . . s !

© {23} @ {2} . e

y\

Mr,omar AdEI 01127470454
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<:> X+y=4 1 X-y=2

[Solution |
X

2X=6 & X=3

n3+y=4 sy=l
. TheSS.={(3 1)}

I

)3X+4y=241 X-2y=-2
- em

3X+4y=24

X-2y =—2_ multiplying by 2

3X+4y=24
L2X-4y=-4

. 5X=20
12+4y=24
The S.S.={(43)}

S X=4

Hy=3

X=y 1X+3y=8
M!lﬂﬂlOlkinUlE{.g

WL, EXAI-E4. COM
(1) s
Substituting from (1) in (2) : .~
S4y=8 Ly=2
Substituting in (1) : . X=

.'J’—-‘"\
¢ 2 )

v X=y X+3y=8 (2

y+3y=8

2

!’:. . 5\ \
£ 8§ )
.H.‘-

) X-3y=61 2X+y=5
[Solution|
"*X—3y=6 .'.x=6+3y‘
s2X+v=§
, 2(6+3y)+y 5 ~L1246y+y =S5
LTy==17 ny=-1
Substitutingin (1) : ». X=6-3=3

s TheSS.={(3 -1}

~ The$8.= {(2,2)}

/
f.

‘\\.. —

6 \IEf(X)=aX2+bsf(1)=5,f(2)=1l

s TheSS.= {(2 90)}

Mr.Omar Adel

s b=3
RSN, 01127470454 ;

T 3 213544 6 then find the value of a and b
X+ =4 + =
/XY ’ (Sowion
cf()=ax?+bsf(1)=5
. = sa+b=5 (1) v f@)=11
o IU 1 * b “3 Ld4a+b=11 (2)
x+3y 2 weNipiyingty Subtracting (1) from (2): . 3a=6 .. a=2
3X+4y=6 Substimtingin(l)"b 3 ]
P 2
—Y—9y=—-6 (1) [ff(x)_’;+£ , f(4)=1Find:b
- +4y=6 (2) m
S=Sy=zero ..y=zero '°'f(4)=l 16 -9 il
Substituting in (1) : . X=2 ' 4+b
ST=4+4Db
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29 )
X-1

x’-ax+9'smk{3}

£ If the domain of the functionn : n (X) =
s then find the value of a

[Solution|
"> The domain of n=R - {3}
S AtX=3sthenX?’-aX+9=0

~9-3a+9=0 ..3a=18 a=b6

{ 32 )

30
If the set of zeroes of the function
fX)=ax*+X+bis {051}
Find the value of aand b

| Perp(3)2™ Term W

Find the common domain of the following algebraic fractions

X+2 X-4
m:~c+s * XN
[Solution|

The domain of n, =R - {~ 5}
s the domain of n, =R - {7}

.. The common domain =
=R-{-5,7}

[ =
l T‘ind the common domain of the following algebraic fractions :

[ Solution |
wz(H={0-1} -~fO=0
~b=0 Lf)=ax2+X
. f(1)=0 nax12+1=0
La+1=0 o as—1
{ 31

If the function f : f (X)=X>-2X*-75
Prove that : The number 5 is the «
the one of the zeroes of the function f

(5 =(5P-2(5P-75=125-50-75=0
e the number 5 is one of zeroes of the function f

X 3
x*-4

T 2-X
emm on=lobllidy

X W, eXarIm-eg.com

T (X+2)(X-2)
*, The domain of n, =R~ {-2 » 2}
The domain of n, =R - {2}
. The common domain =
R-{-2 2}

“ oy (X)

( 38

" Find thecommon domainof the ollowingalgebrac fractons

X
= 3

3
3 X
[Solution|

The domainofn, R
the domain of n, = - {0}

. The common domain = R - {0}

Pagej.4
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